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POWERS AND ROOTS

CHANGE OF BASE

NO CALCULATOR

Ref: (}133.6 R1

A1 Write 5% as a power of 25

A2

Write 8° as a power of 2

A3 Write 8° as a power of 4

A4 Write 8* x4’ as a power of 2

B1 Write 2 as a power of 8

B2

Write 4 as a power of 8

B3 Write\/g as a power of 2

B4 Express 3\/5 as a power of 9

C1 Express

é as a single power of 3

C2

Express

% as a single power of 9
3

C3 Express

1 .
—~ as a single power of 2

a2

C4 Express

3" +9* +15x27%as a power of 3

D1 Solve:

32" = —

D2

Solve:
1 1

2" =84x163

D3 Find the value of x if:
3

2
94 x27" =813

D4 Find the value of m and # if:

6x12"=9*%x2"
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A1l Write 5° as a power of 25

58 — 5?.le
= 25"

A2 Write 8° as a power of 2

A3 Write 8° as a power of 4

85 — (25)5 — 0l
— 2?.)(9
— e

A4 Write 8 x4’ as a power of 2
8 x I° = (25)2 X (?_?')Z>
=2°x2°
=2%

B1 Write 2 as a power of 8

B2 Write 4 as a power of 8

B3 Write\/g as a power of 2

B4 Express 3\/5 as a power of 9

3

33 =3x 37 =37

A \2 P 1
2=38 H:ZQ:(SSJ \/5:85:(9_3)5 ]
1 3 1\2 g
C1 Express C2 1 1 1 3 37+9*‘+15x27’=37+(5?)u+15(35)2
——==—F=387% 8 8
Lasasinglepowerof3 J3 5% 1 = 1 - :% =3"+3 +5x3(3°)
81 \ U2 0202 02 =3 +3*+5x%x(3")
1\ 72 1 5 =3'(1+3+5)
1_1_ =92 =97 Py e
8 3 =3"x9
:57)(5?.:59
D1 b : : 2 D4 6x 12" = 9" x 2"
30X — i ox _85 x’lS% 9% x27* =813 . -
16 B 3 ? s s | =3x2x(B3x2%)"=3""x2"
1 1 \1u X L\= 3X=———
X 1 X _ 3\ 4)z 3 U = (59)‘1 X (35) = (3 )" 3 U = 3m+1 x 22m+1 — 38 x 21
=) =5 S P S 0 el
4 e 25 =3 x3* =33 §
:}25)(:2_[4 = X=—— :>2X:214x23 — =4 =>X=l m+1=8 n=2m+1
5 12 18 =>m=7 =15
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